o0 O00Odod #30

1.3 U0oooobod

P — @ 00000
oooo oooo

P = QUD0O000000O000QUPODOOODO)DDOOO
O (necessary condition) 000000000 PO QOIOOOO)O
0000 (sufficient condition) 0 000

P—Q0Q — POOOOOODD POQOODODDD
O00000000000000 PO QOODOOOOO (sufficient
and necessary condition) 00000000000 QO POOOO
gobooogd

P —QUO00000Q — POOOOOOOOPOQOOD
OO00000o0ooboooooooooooo O pPODODOD
gbobboooobbodood

P—=Q0Q — POO0DOOOOODPOQOODOOD
oooooooooooooooo QO pPObODODODOD
gobooboogd

godoodoodoodoouoouooooouooooogo
gddotdbooouoodoououooouoouoonooouoa
ooooodo
P =Q+<R

O000000000PROODDOODOOOOOQRODOOOOO (OO
O001=10)00000P = QO R = QUOOOOODOODO
O0QLO pPOOOOODOODOOROQUOOLOODODOROP
gboboooboboooboboopPO ROODDOODODOODO
gbobboooobbodaod

P—Q = R

0000000000000 QUODD0O0O0000 (Dooo1+#
10)0o0ooooooo

gbbouogobogoboogoboboooboooboo
gbogubdobobooboboboobobobuoobobobo

17



D0000«,y0000M@ 000 y#000 (z,y) # (0,0)
000000 [000000000000000000 |

X0OOz=000YOOy=000200(zy) =(0,000000
PO0z#000y#40000000PO00-XA-YOOOOOO
QO0(z,y)# (0,000 0000 QOO-Z000000000

(x,y) =(0,0) <= (z=0Ay=0) oooo
Z — XANY

googuoobbbbbbbbdodooouooobbbbbdodoo
goo

X[ Y][-X[v|[P=-XA~Y[Z2]Q0=-2]P =0Q]|Q =
T|T| F | F F T F T T
T|F| F | T F F T T F
F|T| T|F F F T T F
FIF| T | T T F T T T

ooboodb P =QU0000000Q =POOOODLOOO
ooo0o0oooob0 pPO@QOODODODODODODODOD
gbobboogodaoboo

000019 00000 XOYOO 1)OoOoooooo2)oo
Ooo0oO0o0oOoOOOOOOOOO3)ODOoOoOOOODODODOOO
0000004 0000000 00ODOOOU0ODOOOUOODOO
goboboboodoob z,y0ooooog

() X:22=1, Y:z=1

(2) X:2zy>0, Y:z>000y>0

B)X:zy>0, Y:z>0000y>0

(4) X:2zy=0, V:z=000Oy=0

5) X:2zy=0, Y:2=0000y=0
6)X:z=10000000y=1, Y:aey=1

(M X:z=0000000y=0000, Y:izy=0000
8) X:zy=000y=z+1, Y:z=000y=1

9) X:22+2r-1=0002>0, YV:o=-1++2

gbouogbogobboobboobogbuogboobooboo
0000000000 2000000000WO00000000

WOooooooI1oooo
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gbobbooogbbbuoooobbbuooobobboood

{yﬂ—%ﬁ—ﬁ)zo

r(l1—2*—-3y%) =0

0000000000 x g =0000000000 =00
O0pg=00000000000000000DOOOODODOO
axf=00000000000ac=0000p=0000000

yl1—-222—y*)=0 <= y=0V 1-222—y*=0
(l—22=3y) =0 <<= =0V 1—-22-3y*=0

gobooogd
y=0000000Y01-222—3?=0000000 AOz=0
000000 XO01-22-3y*=0000000 BOOOO

(YVAAXVB) = (YVAAX)V((YVA)AB)
= YAX)V(AAX)V (Y AB)V(AAB)

gboobon

y(1—222 —y?) =0 A x(1 —2® = 3y*) =0 —
(y=0Az=0)V 1-222 -y =0A2=0)V
(y=0A1-22-3y>=0) V (1-222—¢y* =0A1—2%-3y?> = 0)

000 YAXOAAXOYABOAABO 40000000000
00000000

000 YAXODOOODOODOOOOOOOO 2z =000
y=000000 (z,y)=(0,000000

00 AAXODOODOOODOOOO AO1—222—42 =0
0XO0z=00000002z=001-222—32=00000
000y =10000000y=1000y=-1000000
00000 (z,y) = (0,1)000 (z,y) = (0,-1)0000000
(z,y)=(0,4£1)000000000

00 YABOOOOOOODOOOOy=0001-22—3y2=0
00000000y=001-22-32=00000000a2=10
0D000002z=10002=-100000000000 (z,y) =
(£1,000000

000 AABOOOOOODODO1—222—y2 =000 1—22—3y> =0
D0000000AOO0BOOOO —22+22=00000000

1 1
BOOOOOOO1-52=00000y=-—000y=———

V5 V5
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V2

gbooogbobobobBOoOooUOod0 z=++—=000000

V5
N
D@MD—<t7?i:E>(DDDDDDD)DDDDDDDDD
00000000
i} Vi1
(z,y) = (0,0),(0,£1),(£1,0), (i%,i%>

gooo
0000000000000 0(x,y)DODODODOO

y(1 —22% —y?) =0, r(1—2°—-3y*) =0
goodoooooobobood

(z,y) = (0,0),(0,£1), (£1,0), <i%, i%)

ooo ®g

0000000000000 00000000000000oQ
0000000000000 000000000oooooooon
000000000000 00000000000000ooon
ooooooooo

bbb 110 dOobobobooooboobooo

(D 2(2*+¢*) =000 y(2* +y* 1) =0

)2 —2r+y=000¢*+2—y=0

(3) (y —22%y)2~"" ¥ =000 (z— 229?27 ¥ =0

(4) sinx (cosysin(x + y) + sinycos(x +y)) =00 O
siny (coszsin(x + y) + sinx cos(z +y)) =0

(poU00000000000000000D0000000000000On
goboobobooooooboooboobooboobobooooboooooao
gboobodgbobooboboboooooboboobobobooooboa
gobooobooooboooboooboboboooboooboboooobooooboaon
gboboobooaobooboobooboobbooboaoboobooogan
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